(3)

SR lE=is

O &L E RO R E R 5
B_A (Hifir - F-m)
K THEBGE A | PEWE | IUAWRE B | HUTER B/A%
1 B HE R B OB 5,361,609 6,133,836 2,241,806 41.8
2 fEH OB kO F OB 1 4 0 0.0
3 EOZ o & 1 0 0 0.0
4 I 53 ax| 4 17,239, 753| 16, 924, 083 7,077, 224 41.1
5 W PE I A 1,371 415 415 30.3
6 # A 4 1, 789, 359 1, 359, 046 609, 576 34. 1
T fR ik 4 3, 192 62, 582 62, 582 1, 960. 6
8 & I A 104, 714 74,971 62, 812 60. 0
% A & 7 24,500, 000 24,554,937 10, 054, 415 41.0
A (g - 1)
K THBIZE A | XHEEEB | BUTER B/A% | H &
1 #® % # 181, 142 84, 337 46. 6
2 R W N 16, 926, 669 7,121, 243 42. 1
3 [ERAEFE IR B BN e 7,045, 031 2,099, 037 29. 8
4 FEOF X LN & 4 0 0.0
5 ff o = ¥ & 252, 672 84, 368 33.4
6 X & & Yy & 1,371 415 30.3
(AN & # 50 0 0.0
8 & B3 as| & 79, 710 42,217 53.0
9 T i # 13, 351 0 0.0
% s = 7 24,500, 000| 9,431,617 38.5
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A (s : 1)
& THREAE A | EWRE | WA B | BITE B/A%
L 1% W s e R Ok BROEE 2,890,177 2,816, 688 1, 087, 639 37.6
2 A 4 2,760, 183 2,760, 183 1,781, 828 64. 6
3 f el 4 2, 406 10, 127 10, 127 420. 9
4 G I A 93, 234 1,215 1, 300 1.4
% A a 7 5,746,000| 5,588,213 2,880,894 50. 1
=t CHfir : 1)
K THBEA A | XHEME B | $UTE B/A% | W &
I & % # 61, 350 30, 258 49.3
2 }l: % ;ﬁﬁi ifﬁ f; % i 5,550,259 2,421, 348 43.6
3 & & F # 126, 839 47, 879 37.7
4§ 53 s 4 5, 145 1,248 24.3
5 ¥ i # 2,407 0 0.0
% s = 7 5, 746, 000| 2,500, 733 43.5

(4449 A 30 H H7E)




®

=
==

i T PR BR S S R 2 AT

% N (HEAL - TH)
> THEBGE A | PEWE | IUAWRE B | HUTER B/A%
1 R R £l 4,767,084 4,850,879 2, 381, 827 50. 0
2 e kOadEE 41, 330 15, 570 13, 354 32.3
3 EOZ o & 4, 330, 616 428, 689 142, 897 3.3
4 XK e R & 5,295, 037 9, 579, 420 4, 288, 029 81.0
5 R B3 as| 4> 2, 850, 916 2,651, 000 1, 104, 580 38.7
6 PE I A 1,792 593 593 33.1
T A 4 3, 392, 583 986, 285 986, 285 29. 1
8 el 4 30, 138 306, 789 306, 789 1,017.9
9 i I A 504 3, 784 2,226 441.7
% A & 7 20, 710,000 18,823,009 9, 226, 580 44. 6
ik tH (AL 1)
K THBA A | KHERE B | $UTE B/A% | W &
R % # 370, 297 152, 175 41.1
2 R W N 19,011, 625 7,787,472 41.0
3 Mok X O o ¥ B/ 1, 247, 232 538, 827 43. 2
4 R om ok FOE B 19, 557 7,315 37. 4
5 & & M Y @& 1,792 593 33.1
6 /A & # 30 0 0.0
TG B3 as| & 40, 021 2, 507 6.3
8 T i # 19, 446 0 0.0
% s = 7 20, 710, 000| 8, 488, 889 41.0
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A (i )
K THEBGE A | PEWE | IUAWRE B | HUTER B/A%
1 o4& K OXAaHEE 2, 000 0 0 0.0
2 fEH OB kO F OB 10 25 25 250. 0
3 EOZ o & 207, 790 207, 790 0 0.0
4 W PE I A 28, 000 26, 488 26, 488 94. 6
5 A 4 441, 758 441, 758 0 0.0
6 i 4 1, 341 1, 342 1, 342 100. 1
TG I A 1 0 0 0.0
8 i f& 602, 100 0 0 0.0
% A & 7 1, 283, 000 677, 403 27, 855 2.2
=t Cifir : 1)
K THBA A | XHEME B | $UTE B/A% | W &
I ST T g e A S ¢ 981, 884 366, 858 37. 4
2 A & # 299, 764 148, 893 49. 7
3 T fisi # 1, 352 0 0.0
% s = 7 1, 283, 000 515, 751 40. 2

(4 Fn44E9 A 30 H HAE)




TS O
% A (HENL - TH)
K THBGE A | PEHEE | IUAWRE B | HUTER B/A%
3 IR T & s T 5,478 0 0 0.0
6 A ik 4 579 579 579 100. 0
8 ifi & 4,900 0 0 0.0
% A & 7 10, 957 579 579 5.3
et (AT 2 1)
K THREKE A | KW B | BUTER B/A% | i &
O ST T g e A S ¢ 10, 957 10, 957 100.0
% s & 7 10, 957 10, 957 100. 0
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% N (HEAL - TH)
& THEBGE A | PEWE | IUAWRE B | HUTER B/A%
A B & O F Hk 3 11 11 366. 7
2 IR T & s R 48, 750 48, 750 0 0.0
3 IR X s 4 1, 750 0 0 0.0
4 W PE I A 97, 032 96, 041 96, 041 99.0
5 A & 200, 000 0 0 0.0
6 i 4 237, 864 266, 904 266, 904 112.2
TG I A 1 0 0 0.0
8 i f& 160, 600 0 0 0.0
% A & 7 746, 000 411, 706 362, 956 48.7
=t Cifir : 1)
K THBA A | XHEME B | $UTE B/A% | W &
IO ST T g e e S ¢ 342, 063 120, 770 35.3
2 A & # 189, 065 93, 851 49. 6
3 7 it # 214, 872 0 0.0
% s = 7 746, 000 214, 621 28. 8

(4 Fn44E9 A 30 H HAE)
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% N (HAL )
& THEBGE A | PEWE | IUAWRE B | HUTER B/A%
LfE B & O F B 60, 992 23, 504 23, 504 38.5
2 i 4 1, 500 1,988 1,988 132.5
3 W I A 508 153 72 14. 2
% & 7 63, 000 25, 645 25, 564 40. 6
ik tH (A7 TH)
K THBA A | XHEME B | $UTE B/A% | W &
1 B H % # 30, 827 9, 528 30.9
2 i 53 s 4 31, 000 0 0.0
3 7 i & 1,173 0 0.0
% & 7 63, 000 9,528 15.1
(5 Fn44F9 H 30 H BIfE)
@ ELliELilT v LM 2 W hF A5t
= APA Cifir : 1)
K THBEE A | PEHEE | IUAKEE B | HUTHE B/A%
%) PE I A 1,661, 226 0 0 0.0
2 & A 4 113,726 0 0 0.0
% = 7 1,774, 952 0 0 0.0
A (BA7 : TH)
K THIBAE A | HEE B | $UTER B/A% | W &
I ES # 113, 726 0 0.0
2 & B3 as| 4 1,661, 226 0 0.0
% = 7 1,774, 952 0 0.0

(45 Fn44E9 A 30 H BIE)
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A (s : 1)
& THEBGE A | PEWE | IUAWRE B | HUTER B/A%
LA B & O F Hk 1, 250 0 0 0.0
2 R’ 53 s 4 26, 302 4, 057 0 0.0
3 W PE I A 54, 402 21, 754 21, 706 39.9
4 fE A & 1 0 0 0.0
5 i 4 3, 044 9, 332 9, 332 306. 6
6 i I A 1 2 2 200. 0
% A & 7 85, 000 35, 145 31, 040 36.5
i Cfir : 1)
& THBA A | XHERE B | $UTE B/A% | W &
IRV ES # 78,132 15, 520 19.9
2 i 53 s 4 3,524 45 1.3
3 7 it # 3, 344 0 0.0
% s = 7 85, 000 15, 565 18.3

(4449 A 30 H H7E)
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% N (HAL )
K THEBGE A | PEWE | IUAWRE B | HUTER B/A%
1 M PE I A 4,103 225 126 3.1
2 i el 4 1,197 1,253 1, 253 104. 7
% A & 7 5, 300 1,478 1,379 26.0
ik tH (HEA7 0 TH)
K THBA A | KHEME B | $UTE B/A% | W &
1 # % # 96 0 0.0
2 W PE # 4,815 1, 447 30. 1
3 & 53 s 4 130 0 0.0
4 F fii # 259 0 0.0
% t & 7 5, 300 1, 447 27.3
(5 FN44E9 H 30 H BIfE)
& LA R RE X R 2 E
WA CHAr : 1)
K TRBE A | ERE | WA B | BATE B/A%
1 W PE I A 1, 757 116 67 3.8
2 f ik &> 543 790 790 145.5
% A = 7 2, 300 906 857 37.3
i H (HAL - TH)
K THIBAE A | HEE B | $UTER B/A% | W &
1 # % # 113 0 0.0
2 M PE # 1, 697 701 41.3
3 i B3 as| & 130 0 0.0
4 7T fii # 360 0 0.0
% s = 5 2, 300 701 30.5

(45 Fn44E9 A 30 H BIE)
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A CHAL : T1)
& THEBGE A | PEWE | IUAWRE B | HUTER B/A%
1 M PE I A 2, 833 98 41 1.4
2 i 4 1, 667 2, 257 2, 257 135. 4
% A & 7 4, 500 2, 355 2, 298 51.1
ik tH (HEA7 0 TH)
K THBA A | KHEME B | $UTE B/A% | W &
1 # % # 105 0 0.0
2 WM PE # 3, 743 1,036 27.7
3 & 53 s 4 130 0 0.0
4 F fii # 522 0 0.0
% t & 7 4, 500 1,036 23.0
(5 FN44E9 H 30 H BIfE)
@ & Ll R X R 2 E
= APA Cifir : 1)
K TRBE A | ERE | WA B | BATE B/A%
1 W PE I A 803 78 56 7.0
2 f ik 4 1,897 2,367 2, 368 124. 8
% A = 7 2, 700 2, 445 2, 424 89. 8
i H (HAL - TH)
K THIBAE A | HEE B | $UTER B/A% | W &
1 % # 90 0 0.0
2 M PE # 1,283 37 2.9
3 i B3 as| & 130 0 0.0
4 ¥ fis # 1,197 0 0.0
% s = 5 2, 700 37 1.4

(5449 A 30 H H7E)
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B_A (Hifir - F-m)
K THEBGE A | PEWE | IUAWRE B | HUTER B/A%
1 M PE I A 5, 026 3,443 680 13.5
2 i 4 15, 974 18, 563 18, 563 116. 2
% A & 7 21, 000 22, 006 19, 243 91.6
2 (g - 1)
K THBA A | KHEME B | $UTE B/A% | W &
1 # % # 90 0 0.0
2 M PE # 2, 946 769 26. 1
3 & 53 s 4 130 0 0.0
4 ¥ it # 17, 834 0 0.0
% s = 7 21, 000 769 3.7

(4 Fn449 H 30 H BiAE)




